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Full Marks : 90
_ Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
Sy own words as far as practicable

Hlustrate the answers wherever necessary

[OLD SYLLABUS]

GROUP — A
[ Long Answer type questions ]
Answer any two questions each
within 800 words : 15x2
1. Explain the Tri-cellular model and corelate it with
P planetory wind system. Why do isotherms shift
their position seasonally ? 10+5
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2. Mauke a scheme of world climatic classification
aiter Koppen. How dves modern technology
influence the weather forecasting ? 12+3

3. How does climate and vegetation affect the
formation of soil profile ? Explain with example.
Identify the role of soil texture in the genesis
and fertility of soil. 10+5

4. "Energy flow is wunidirectional in any -
ecosystem while mass flow is cyclic." — Justify
the statement. Compare hydrophyte with
halophyte. 10+5

GROUP — B
[ Semi-Long Answer type questions ]

Answer any five questions each
within 500 words : 8x5

Unit —1

5. Describe the causes and impacts of temperature
inversion in the upper air and lower air. 4+4
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Or
~ Represent the life cycle of temperate cyclone
with proper sketches. 8
Unir - 11
Explain the process of ozone formation and
depletion. 4+4
N
Or
Explain the role of hygroscopic nucleii in
the formation of rain drops. .8
Unir — 11T
Compare the processes “of the formation of
podsol and laterite soil. 4+4
Or

How does soil-water play important role in
sustaining the soil productivity ? 8
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Unit — IV

8. "Ecotone is more diversified and transformable

than ecosystem." = Explain the statement with
proper example. 8

Or

How do organic matter and mineral
composition of soil supply the nutrients and

augment the primary productivity ? 4+4
7 Unit — V
9. Explainthe features of Savana Biome. 8
Or

Elucidate the major causcs of ¢lephant
migration in Jangalmahal. What steps is to be
taken to manage this unexpected event ? 4+4

GROUP -C

[ Short Answer type questions ]

Answer any five questions each
within /50 words : 4x5
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Unit =1

10. Explain how 'Aurora Australis' and 'Aurora
Boreatis' are produced in polar regions ? 4

Or

Classify airmasses ﬁccording to their place
of origin. 4

Unit — 11

11. What is meant by ocean signature and
atmospheric signature in explaining ENSO ? 4

Or

Distinguish between 'Condensation Nuclei'
and Freezing Nuclei'. ' 4

Unirt — HI

12. How does organism play an important role in soil
~ formation and its productivity 7 4
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Or

Distinguish between 'CEC’ and 'BEC', 4

UNIT -1V

13. What is 'Ecological Balance' ? Why it is
important in'any ecosystem ? 2+2

Or

Distinguish between rill erosion and gully
erosion, 4

UNT -V

14. Differentiate between 'Migration' and
'Dispersal'. 4

Or

-Elaborate the stages in the evolution of a
climax vegetation. o 4
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